Math 31 
Quiz (10.2-10.3)
Name _____________________________

1.
a.
Find the first four terms of the Taylor series at 
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Use the first four terms of the Taylor series at 
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c.
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2.
a.
Find the Taylor series at 
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.    (The chain rule makes the result positive.)
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Also 
[image: image37.wmf]1

1

x

-

 is the sum a geometric series with 
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b.
Find the Taylor series at 
[image: image41.wmf]0

x

=

 for 
[image: image42.wmf]2

1

()

(1)

fx

x

=

-

 by differentiating 
[image: image43.wmf]1

()

1

fx

x

=

-

.


One way to find the series is to use the same chart you made in 2a and shift the second and third columns up.    
Another way to find the series for 
[image: image44.wmf]2

1

(1)

x

-

, is to take the derivative of each term of the series for 
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